Start on a new page:

A. Fill in the blanks:

a. 9436-6000=
. 3659 -400 =

4879 - 60
6211 -200 =
8429-3000=
5479-50 =

s o a0 o

B. Fill in the blanks using subtraction facts:
Eg: 2433 + 2454 = 4887
4887 — 2433 = 2454

4887 — 2454 = 2433

a.5432 +3547=___ (b) 2365+5413=_
8979- _ =3547 7778-2365=
8979-  =5432 __ -5413=2365

c.7061+ ___ =9877 (d) _ +4721=8767
9877 - =2816 8767 —4046=

- 2816 = 7061 -4721 = 4046



Start on a new page:
Subtract and check the answer:

Eg: 8431-2526=

Th H T O Th H
7 14 2 11 1
g8 4 3 1 5 9
- 2 5 2 6 + 2 5
5 9 0 5 8 4
a. 8252-1378=__
b. 5531-1260=
c. 9624-5678=
d. 6223-3716=_____

e. 5961 —4385 =



